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���	� ����+

�����* �
� ��� �7�����/����	 �"� ���/����/������� �	��������	��	
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�"����� �� ��	 �����
���� ��������� 8"�  ���	��	��	 ��	�� 
!9+

��
��
� �	 ��	�� ��
��
��	�/
	
�* ��� �� ���� �����	��� �����*

������	 ���� 	����	���� 1��/���	�	������	 ��	�

• 3, 2 · 1022m−3 ��� T = 26000K, ΔE = 2, 5eV �	  ��		��	(��

• 2, 0 · 1022m−3 ��� T = 10000K, ΔE = 2, 5eV 
� �����	���

����� ����� �����	 
� ��4 	���� ��������* ��� ������ ��
��


/
		 
��� 	���� ��	 ��	�� 
!1 
�����
	��	 �����	 A����%=B�

����� �	�������
 ���	��
 �������#�	��
$��
 %���$�!�&�$��

 �� /���	���	 ������	 ��� ��� �	 �	�������	� >�< 
������(�$��	

��������	 ��� 9�����������������	��	��	 
��� ��/
� ���� 9"����/����

��	 !������	�����	 �()� ���� /��	� ��	��������� !�����
��� ���� $�+

���	�	� 2�� ��� �
�
+1�����+9������	� ����� �
		 ����
� �"� -���	

'�	��
���	�$���
	� ��	� ����	� '�	��
���	�������
��� �	� 
�� ���

 ���$�
		+9������	� �"� -���	 2	����	��$���
	� ��	� ����	� 2	+

����	��������
���� ��� �
!9 ������� �
	 ��	
� �
		* ��		 ���

2	����	��������
��� 
���� 1	�����	���
�� 
�)�� ��� ��� 9��	�$�+

��
	�� ��� ��� 1��/���	�	������
��� "�����	������� A ���C#B

����( �����	������

�
� 4���	
������ ���� �"� ��
���	 	�������� ������ Ene < 1017m−3F*

��� ��� $� � �	 ��� ��		�	/���	
 Ene � 1013m−3F �;�������	* $����	+

�� ������� ��� ������� ���(�	�* �����	 �
��� 	�� ���)
	����	� �	�

+��	��
���	 
�� ��� 9��	�$���
	� ����� ���	�
	� 1������	 �	�

�������/����	
���	 ���"�/�������� A ���C#B� �
� 4���	
������ ���

��	 ���� ��	�
���� 3������������������������* ����� 	��� $������	



���� ���	
	��	� ���	��� �� �����	� +=

��� $����	
��(	����	 �	� ��� $���
��(	����	 4���	
������ �	+

����������	 ����� '	 �������� ���� 
	��	����	* �
) M	����	��	

�	 ��	  ����$�	��������	* ������ ����� �
��
���	�	 �	 ��� 1��/+

���	�	������
��� ������
��� �����	* ���������	 ��� ��	 .��
;
��+

�	�$����	 
���
��� ���$���� �
	��
� 
��
���	� '	 $�������� ���+

��	 ��� .
��	 ��� '�	��
���	�+ �	� .�/����	
���	����$���� �	 ���

0�������	��	 ��� ��	��$���	 A��
�I&B�

����) ���*
��	��
�!
������

8"� ��	 ������������� 1017m−3 ≤ ne ≤ 1022m−3* 
��� $������	

4���	
������ �	� �
!9 ���� �
� ����	
		�� ���)���
���	����+

���� �"� ���  ���������	� ��� ��
��
� ���
	��$���	� �
$� ����

��	� .
��	�������	� 
����������* ������ 
��� ���7�/��	��	 �	� 
�+

�� �	��7�/��	��	 ���$���� $������	 
	�������� D���
	� 〈n〉 �	�
9��	�$���
	� 〈m〉 ���"�/��������* �"� ��	 
	�������	 D���
	� ����
�
		�

dnn

dt
= nenm〈σ(m→n)

e,a ve〉
+ ρ(ν)nmBmn − nenn〈σ(n→m)

e,a ve〉
− (nnAnm + ρ(ν)nnBnm) E>�CF

��� ����
	��	 ��	� ��� .
��	/��S$��	��	 �"� ��� ��	$��	�	 ���+

$�����

• 1��/���	�	���)
	����	��

(
dnn

dt
)m→n = nenm〈σ(m→n)

e,a ve〉

• 1��/���	�	���)
�����	�

(
dnn

dt
)n→m = nenn〈σ(n→m)

e,a ve〉



+) �����	� �� �
������	�

• �����
	����	� E2��������	F

(
dnn

dt
)m→n = ρ(ν)nmBmn

• ���	�
	� �	� �	��$����� 1������	

(
dnn

dt
)n→m = nnAnm + ρ(ν)nnBnm

'	 ��/���	 4�
����	 �����	 ��� -��������	 .
��	/��S$��	��	 ���

���$����*Anm, Bnm �	�Bmn ��	� ��� 1�	����	/��S$��	��	 �"� ���	+

�
	� �$�� �	��$����� 1������	 �	� 2��������	* �	� ρ(ν) ��� ���

���/��
�� 1	������������ 2�)����� �����	 �� ���)���
���	����+

���� 
��� '�	��
���	�+ �	� .�/����	
���	����$����* ������ ��� ���+

��	 3���
�� �	�+ �	� ���7�/��	* ���"�/�������� A ���C#B� 8"� ����	

.
��	 ���� 
�  ������� ��� 3���
�� ��

• ���)��	��
���	�

(
dnm

dt
)m→i = nenm〈σ(m→i)

e,a ve〉

• ���������)��/����	
���	

(
dnm

dt
)i→m = n2

eni〈σ(i→m)
e,a ve〉

• �������	��
���	

(
dnm

dt
)m→i = nm

∞∫
E0
h

〈σ(m→i)
e,a (ν)〉cρ(ν)

hν
dν

• �������/����	
���	

(
dnm

dt
)i→m = neni〈σ(i→m)

ph,a ve〉,
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����� �	 ��	 ��/���	 4�
����	 ������ ��� .
��	/��S$��	��	 �"�

��� -��������	 ���$���� �����	� ��� ���� �����	���� �
�������	� ���

$��(�$���� 	��� �
��	����	� ��
�/ �����	�
���* �
) ��
�� 2���� 	
+

�"����� 	���� 	�� $���* ��	���	 ��	� 8"��� ��	 1	�����	���
�� �����+

$�	* ����	  ����$�	��������	 
��� ������	�� �	� �	 9������	� >�C

���"�/�������� �����	 �"���	 A��
�I&B�



4> �����	� �� �
������	�

��� �
� ���

%&� ���	&���� *�� ��	
���

D�� �	��������	� ��	 ��
���	 �����	 �� 

��� ��� ����
	��	�	

,
��� �����(����� ��
�	����/�6����� �	����/���* �� �7������� ���+

�� ��
��
�
�
����� ��� !�����
���+ ���� 1	�������������	��	 ���

��	$��	�	 ���$��� �	� ����	 ������	 ��������	 $� /7		�	� ���

�������	 ��� �
� ����
�� ��
��
����
���	* ��� 1	�����+ �	� !���+

���	��
	�����* !������	$�	* '	��
�����(��	 �	� ��� ��
��
+�
	�+

����������/�	�* $� � �	 ��� 8����	��������	� A����C>B* ��	 ����

���)�� '	�������� ��� ��
�	����/�	 �
���	 ���� ���	$������ �	 Q
/+

����R �	� Q�
�����R �6����� ��	�����	� 2�� 
/���� ��
�	����/�	 ��+

$����	�� �
	 ������* ������ ��� ��� ��
��
 �� /�
�������	 ��		�

�	 ����������/�	� �����	* $� � ��� ������	�* 8������$�	$ ���� 2�+

�������	 ���/����
�	�������� �����	 ���� !������	���
���	 
� �$��

�� ��
��
� D� ��	 �
�����	 $(���	 �
�	������� �	� !������	H�)+

�����	��	 ����� ��� ���
��� ��
��
���/����/����� '	 ������ 2�����

����� ��� �
����� ��
��
���/����/����* 
��� ��� �����	� ��� ����+

������	 ���
���	� �� ���������	�� �� ��� ��)�����	���� �������

�	�����������	 $� /7		�	* ���� �	 ������ !��� ��� 1	������	� �	�

2��������	� ��	 ���/����
�	�������� ���
���	� �	 ��	�� ��
��



���"������ ���/������ �����	� ��� ��	 ��	�� ��
��
 �� ���� ����+

�
	��	 �����	�(	��	������� ��	 #%% + K%% 	� ���������� ���
���	�

/���� �	 ������ 
�	�� ����� ���	�
	� 1������	* 
��� 0����(	��

��� �"���	���/���	�	 
�� 
	�������	 �	 	��������� 3���
�� $���
	+

��� ��� ���
���	��������	� ��	�� ���/��
���	�� �(	�� ��	 ���  �+

���$�	�������� ��� �����	 3���
�� ��� 0����
	�� 
�� ����� ����

���� 
�� /���	 �	� /�	��
	� ���
�������$�* �
� 
�����	� ��� !
��
+

��� $� ������������	 ���* �
) �� ���� 	�� 
�� ��� ���
����	 '	��	��+



���� ��	 �������	 ��
������ ��� �����	� 4(

�(��	 
	/����* ������ 
�������������� ����� ��� 2��������	 ����	+

H���� �����	� ����
�� ������	 ��� 0����
	���
�������	����/����	

�$�� ��� 1�	����	/��S$��	��	 ��	� �	��������	�� .����� D�	(����

���� �	 ������ 4
����� 
�� ��� ��� ��
��
 ���������� ���
���	�*

�	�����	���� ��� 
�	��	���
���	� ��	���
	��	� 2	���������	� ����

��� ���
���	����
	����� �	 ��	�� ��
��
 
	�
	� ��� ���
���	��+
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	������������	� ���/������* �� �� 2	�����) �
�
	 
�� ��� �����	

���� ���(����	 
7��	��
	�(�$� ��������	 ��	$�����	* ��� 
	
�6��+

���� 
7��	� ��� /�	��
	��� ������ �	� ��� 	��������� 
7��	� ���

���������� ���������5��

����� '�����
��	��
�! �� ��	
���

2�� ��� 8��� ��	 ���/��
���	��	 /
		 �
	 ."�/����"��� 
�� ���

�	 ��	�� ��
��
 ��������	��	 ��6��/
������	  ���	��	��	 $����	�

8"� ��� '	��	���(����������	� ��	�� 
�	�� ��� ��� 
�	��	���� P (ω)

����

I(ω) = I(ω0)P (ω) E>�=%F

��� 	
�"������ 
�	��	���� ��	�� ���/��
���	�� ���� 
�� 8�	/���	 ���

4�������J��	$ ����� ��	 
���	�$���5�

P (ω) =
1

π

ΔωN
1/2

2

(ω − ω0)2 + (
ΔωN

1/2

2 )2
E>�==F

������������	 A���%%B* ����� ΔωN
1/2 ��� 	
�"������ 
�	��	������

E����F �	� ω0 ��� �����	���J��	$ ��� 
�	�� ��	�� 1�	� ���(	+

����	� ��� 
�	��	���� /
		 $��  ������� ����� ��� �������+* ���

���)+ ���� 
��� ����/�����������	� ����	�� ���	� �
 �	 ��
���	 �	

������ 
�	�� ��� 1��/���	�	 �"� ��� ��7)� ���
	��������� ��	�* /
		

��� ����/�����������	� �$�� +����������	� �	 �����	 ��� ��� ��	�
+



4' �����	� �� �
������	�

��	 �$�� J�
��
������	 ��
�/�:�/� ����������	 �����	�  ��"�/����+

����	� ������ 1:�/��� �"��� ��	� 8
���	� ��� 
���	�$+���5�� ���

��	�� ������
�/+���5� A!�
I%* ����%=B ��������	� 1��	�� ��� ���

���(	����	� ��� 
�	��	���� ����� ��	 D���
	�:�/� ��� ��� ���(	+

����	� ��� 
�	��	���� ����� ��	 ��
�/�:�/� ���� 
��� ���	
���(�+

����
�� �� ��	�	 �����
��	 1�	H�) ��� ��
�/�:�/�� $� ��/����	*

�")��	 ��7)��� 1��/���	�	������	 Ene � 1021m−3F ��������	� 8"�

��	 D���
	�:�/� ��	� ���)� �
�	�������� ���
�����$�	�* ������ �	

������ ��
��
 
� �	��������	����� 	���� 
��������	� ��
�/ ��	�

E��� ����
��	 	�� μT F* �� ���"�/�������� �����	 $� �"���	� ��	

�	 ��� .���� ��7)��	 1�	H�) 
�� ��� 
�	��	���� �
� ��� �������+

�:�/�* 
��� ��� ���(	����	� ��� ����������	 8��J��	$ ����� ���

 �����	� ��� 2���� ���� ����/"�� ���
��� $��  ���
������ '�

	����+���
�����������	 8
�� ���(��� ��� �����	���J��	$ ��	� ��������+

��	� ���()

ω = ω0 +
−→
k −→v ; | k |= 2π

λ

�
� '	��	���(�����5� ���� �
����� �����	�� 9
�)���� 
		����	

A���%%B

I(ω) = I(ω0)exp[−(
ω − ω0

ω0vw/2
)2] E>�=#F

��� ��� �
�������	�������	 9������	���/��� vw = (2kBT/m)1/2�

��� ������������������	� /
		 �� ������
��	  ������ ��� 	
�"���+

��� 
�	��	������ �� ��� $� $��� 9�7)�	���	�	��	 "������:�	� ���

8��� ��	�� ���/��
���	�� ���� 
��� ����� ��	 
���	�$���5� ��� 	
+

�"������	 
�	�� �	� ��	 9
�)+���5� ��� ������������������	� �$��

����	 8
���	�* ��	�� �����+���5�* ������������	� 1�	�	 �������	*

	���� $� ���	
���(�����	��	 1�	H�) 
�� ��� 
�	��	���� �
� ��� ���+

��	���� ��
�	����/� �
� 2��
�
�����5� $� � ��	�� ���/���������



���� ��	 �������	 ��
������ ��� �����	� 4+

��) ���"�/�������� �����	* �	�����	���� ��		 �
� 2�H7��	�����+

�7��	 ��� ���/��������� 	���� 
��������* �� ��� 
�	��	���� 
��+

$��7��	�

����� ���	��
�!
��	�
+��� �� ��	
���

�� ��� 
	 ��	��N�� 
������
�� ��� ��
��
� �������	� ���
���	��+

�	��	���(� Iν* ������ ��	� ����/� ����
����
�� 9�7)� ���* ��/�(��	

$� /7		�	* ��) ��	 D��
���	�
	� $� ��	 1������	�+ �	� 2�����+

���	�����	���
���	 ��� ��
��
� ����������� �����	� ������ D��
�+

��	�
	� ���� ����� ��� ���
���	����
	������������	� A
��I<B

dIν

dy
= ε(ν, y, z) − κ(ν, y, z)Iν(y, z) E>�=>F

������	� ��� 4�����	
�� 6 ��$����	�� �
��� ��� .�����	� ��� �����+

��	��* ����� ����$� 2������	� >�=* ε(ν, y, z) ��	 ��/
��	 1������	�/�+

�S$��	��	 �	� κ(ν, y, z) ��	 ��/
��	 2��������	�/��S$��	��	� ����

��� ��	�� 2�����	�	� ��� ��
��
� ��	 y = −y∗ ��� y = y∗ ���� �"�
��� '	��	���(� Iν(y∗, z) 
	 ��	��  ���
����	����� y ≥ y∗ 
�)��+
�
�� ��� ��
��
�

Iν(y
∗, z) = Iν(0)exp(−

y∗∫
−y∗

κ(ν, y, z)dy)

+
y∗∫

−y∗
ε(ν, y, z)exp(−

y∗∫
y

κ(ν, y′, z)dy′)dy E>�=KF

����� Iν(0) �= 0 ��	� �;���	� ���
���	��J�����* $� � ��	�����
�����



��������* �������� A
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��	 9�7���	 �� ��
��
 $� ��+

������	* ������ ��* ��� 
	 9������	� >�=K �����������* 	���� 
��*

��� ���
���	���	��	���(� 
	 ��	�� N�� 
������
�� ��� ��
��
� $�
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	 �	��
	� ��� ���
���	 �������	�� "��� ����������+

	� ����� ��� ��/
��	 1������	�/��S$��	��	 �	� ��� ��/
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�	 ��� 2������	� &�> ��$����� ���/���� ��	 ��	�������� �"� ��� 9�+



���� �����	 ��� 	������� ��� �
���������� 1+

�
�������� ��	 n = 0, 75·1018m−3 
������(�$��  �� ������ �������

���� 
������	�� ��� 1�	H�) ��� .�
��������	 ��	 ���
���	� �		��+

�
�� ��� ��
��
� ������(	��� ���	
���(������ ������ 3
������ /
		 +

��� ���
�������$��� D6��	����6������� + ���	$������ ����� ��	� $�+

�(�$����� !�
	�������	������	� ������	 �����	� ������ ����
���	

���� �� 	(�����	 2����	��� /��$ 
	���������	 �����	�

��� �
�
 
���
%&�� ���%& 0�

��� *�� ��
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�



��

'	 ��	�� $6��	����6����������	* ���
���	��	 ��
��
 ��������	

��� �
��
��	 ��������	��	 ��� E���J��	$
��(	����	F 1������	�+ �	�

2��������	�/��S$��	��	 ��� ��
	�����
��	 ���
���	��+ �	� !�
	�+

������	����5�� ���() ��� ���
���	����
	�����+ �$�� ��	 ���
����+

���	����	 2���+9������	��	 A1��I&* T��<=* T�&&* ���C?* ,�	CCB

Sν(z) = 2
R∫
z

εν(r)cosh(
τ(z, r)

2
)

1√
r2 − z2

rdr EK�>F

�	�

−lnΘ(z) = 2
R∫
z

κ(r)
1√

r2 − z2
rdr = τ(z, R) EK�KF

�
��� ��	� Sν(z) ��� ��
	�����
�� ���
��������* Θ(z) ��� !�
	����+

���	 �	� z ��� 4�����	
��� εν(r) �	� κ(r) �����	 �"� ��	 �
��
��	

1������	�+ �$�� 2��������	�/��S$��	��	* ����� ���  ����
� ��� ��+

$��	��	�	 1������	 ������� ���	�
���� ���� R ��$����	�� ��	 9�+

�
���
���� ��� ��
��
J�����* �	�

τ(z, r) =
z∫

r

κ(r′) · (r′2 − z2)−1/2) · r′dr′ EK�&F

��� ��� �������� !����� ����� �������� !���� �(��� ���� ���	$������ 
	+

�
	� ��	 2��������	������	��	* $� ��� ��	�� 

���* ��������	�
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���
��������	������	��	 /�		��	 �� .
���	 ������ 2����� 
��

����	�����	 �	� $��������	 9�"	��	 	���� ��������"��� �����	� 1�+

	� ������� �7�����/��� $�� ��������������	�* ��� ������� ��� 1�+

��/� ��� ������
��������	 ��	 ���/��
���	��	 ��	��$� ����* ���� ��

�����	��	 2����	��� ���/�������

��� ����
�	�
����
�� ��
 &�������� 2����
����

����	 �	 ���
	���
	��	�	 2������	 A,�	C<* 4��C<* ���%#B �����

$��  �������	� ��� ����$���+9��	�$���
	�������� ��� �������

��� ������
��������	 �����	���� ��� !
��
���* �
) �� ����	
		+

��	 ������� ���/�	 8
�� ��	 !��� ��� �� ��
��
 ����������	 
�����

��
��������� ����* ���/� ���� ��������� ���� ��
�/ 
�� ��� 
�	��	���+

��	 �	� ���
����	 
�	��	�	��	���(��	 
��� ��� �������* ��� ������

1:�/� ��	��$� �����	 /
		* ���� �	 ������ 2����	��� ���(����� �	�

�� �����	 ��� ���+ �	� 3
������� ���/������ �����	�

'� ���$��	 ����
	��	 ��� 
7��	� ��� ���
���	����
	���������+

���	� E9������	� >�=KF ��� ��� �������� !���� τ(ν, y) ������� ���"�/+

���������

τ(ν, y∗, z) = −
y∗∫
y

κ′(ν, y′)dy′ EK�IF

����� �������� !���� ��� ��
��
� ��� 	�	 "��� ��	 ���/��
��	 2�+

�������	�/��S$��	��	 ��� ��	 !������	������	 ���/	"���� 8"� ��	
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�	��	
��������	�/��S$��	��	 ��� ���/��
���	�� ���� A
��I<B

κL(y) = ni(y)
giλ

4Aki

gkc8π
EK�?F

�
��� ��	� gi, gk ��� ��
���������	 9������� ��� 3���
��*Aki ��� 1�	+

����	/��S$��	� �"� ���	�
	� 1������	 �	� ni ���  ����$�	��������

��� �	����	 3���
��� ������ �(��� ���� 
������	��* �	��� 2		
���

��	�� �������+���5��* 
��� ����� ��	 ���/��
��	 2��������	�/���+

5$��	��	 ��� D�	����������	�(	�� �	� ��� ����� �
������������� ���


�	�� δFWHM 
����"�/�	 A4��C<*  ���C=B�

κL(y) = κ0(y)

√
π

2
√

ln(2)
δFWHM EK�<F

8"� ���  ����$�	�������� ��� �	����	 3���
�� ����� 
�� ��	 9���+

���	��	 K�? �	� K�< A,�	C<* 4��C<B

ni(y) = κ0(y)
8π3/2cgk

2
√

ln(2)λ4
0giAki

δFWHM EK�CF

�	��� ��� 2		
���* �
) �� ���� �� ��	� ������	� ��
��
�����+

�� ��� ���/� � �
	���� �	� ��� �������� !���� /���	 ���* �(��� ����

��� 9��	�$���
	�������� ����� ��� �������� !���� τ0 = κ0d ��	��

���/��
���	�� 
����"�/�	�

ni = τ0
8π3/2cgk

2
√

ln(2)dλ4
0giAki

δFWHM EK�=%F

����� /
		 
�� ��� ����(��	�� ��� '	��	���(� ��� 
�	�� ��� ���

��	�� 
	����	 
�	�� �	 ��� �����	 ����������+�6���� ��������� ���+

��	 A,�	C<* 4��C<* ���%#B� �
$� ���� �
� 
�� ��	 ������� �"		�	

8
�� 	�������� 
�	��	����(��	�� (V (τ251,6)) ��� �����	 
�	��	 "���

��� ��������	 !���� ��� 
�	�� ��� #&=*I 	� 
�����
��	* ���� �����

��� ��(�/��� ������
��������	 
��������

V (τ251,6) =

1
τ251,6

(1 − e−τ251,6)
1
τx

(1 − e−τx)
EK�==F
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$��  ������� ���6	��� �7����� N��	�	� �����	��� �����	�

��� ����
�	�
����
�� ��
 ���
��
��� 2����
����

��� �� ���
	���
	��	�	 2����	��� ����������	� ������� ���* ���
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������"�/� �����	

/
		� D�� 
7��	� ������ /�����$�������	 8
���� ��) ��	 
	�����

��� ���(��� �����	� ��� ������� ��� �
�� ��� ��� �����
���	 ���

���/�����* 
��� ��	� �
�
����������� ��� ������+ �	� !�����
���+

���5��* �� ��� �������	�	 ���/���	 �7������� ��� $� �������$��+

��	� D�� �����
���	 ��� ���/�����* 
��� ��� '	��	���(� �	� 8���



1) �����	� �� ��	��
���������	 
	�������� ��� �����	�

��� ��	$��	�	 
�	��	 ��) ��� 
7��	� ��� ���
���	����
	���������+

���	� >�=K �������� �����	* ����� ��� ����� !��� ����	 �����	���

�;���	�� 
����J�����	 ����(���* �� ������

I(y∗, z) =
y∗∫

−y∗
ε(ν, y, z) · e

−
y∗∫
y

κ(ν,y′,z)dy′

dy EK�=#F

�
��� ��	� ε(ν, y, z) �	� κ(ν, y, z) ��� ��/
��	 1������	�+ �$�� 2�+

�������	�/��S$��	��	� ����� �����	 9�7)�	 ��	� ���������� ������

��	 ��	  ����$�	��������	 ��	 
	�������� nk(ng, Te, ne) �$�� 9��	�+

$���
	��	���
� ni 
��(	���� ��� ����������� 1������	* ������ ��	

���� ��� 2��������	�/��S$��	��	 �:�/��� ���/���	���* /
		 ����


�����	� ��� ����	��	  ����$�	� ��� �����	 3���
�� ���	
���(�+

���� �����	� ��� 9��	�$���
	����������������	� ��) 	�	 ���
��

���(��� �����	* �
) ��� 
�� ��� .���	�	� ����������	�� '	��	��+

�(����������	� ��� �� 1;������	� �������	� ��	
� ����������� '	

���  ����$�	����������������	� ��� �����	 3���
�� ���� 	���	 ���

9��	�$���
	����������������	� ��� 1��/���	�	������+ �	� ��� 1��/+

���	�	������
�����������	� ��	 A
��I<B�

ε(ν, y, z) =
hν

4π
Akink(ni(y, z), Te(y, z), ne(y, z))Pν EK�=>F

κ(ν, y, z) =
hν

c0
Bikni(y, z)Pν EK�=KF

����� Pν �
� ���/��
�� ���5� ��� 
�	�� ���� 2�� 8�	/���	 ��� ���+

��	�(	�� ���� �
		 ����	 A
��I<B

κλ = κν EK�=&F

ελ =
c

λ2 εν EK�=IF

�	� A
��I<B

Pν =
λ2

c
Pλ EK�=?F
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�"� ��	 1������	�/��S$��	��	

ε(λ, y, z) =
hc

4πλ
AkinkPλ EK�=<F

�	� �"� ��	 2��������	�/��S$��	��	

κ(λ, y, z) =
hλ

c
BikniPλ. EK�=CF

1����$�	 ��� Bik �� 2��������	�/��S$��	��	 ����� �
� Aki �������

����	

Bik =
gk

gi

c3

8πhν3Aki =
gk

gi

λ3

8πh
Aki EK�#%F

�"� ��	 2��������	�/��S$��	��	 ������)����

κ(λ, y, z) =
gk

gi

λ4

8πc
Akini(y, z)Pλ. EK�#=F

8"� ��� �������� !���� ���� �
����

τ(λ, z) =
y∗∫
y

gk

gi

λ4

8πc
Akini(y

′, z)Pλdy′ EK�##F

'	����
�� ���(�� �
	 �"� ��� '	��	���(�

Iλ(y∗, z) =
y∗∫

−y∗
ε(λ, y, z) · e

−
y∗∫
y

κ(λ,y′,z)dy

dy

Iλ(y∗, z) =
y∗∫

−y∗

hc

4πλ
AkinkPλe

−
y∗∫
y

gk
gi

λ4

8πcAkini(y′,z)Pλdy′

dy EK�#>F

8"� ��� 
�	��	���� Pλ ���� �� 8����	��	 ��	 ����������5� 
	+

��	����	* �
 ��� 
	����	 �����������	������
	����	 �	 ��� �	

������ 2����� �	���������	 �
�
������������ ���	
���(����� �����	

/7		�	 E���/�����	 ����� 2����	��� >�#�=F�

Pλ =
1√

πΔλ0
e

(λ−λ0)2

(Δλ0)2 EK�#KF

Δλ0 ��� ��� ����� �
������������� ��� ���/��
���	�� �	� λ0 ��� ���

D�	����������	�(	��� ��� 9
�������
�����������	� E�	� �
��� ���
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1�	H�) 
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 ����$�	� ��� 9��	�$���
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�
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��� 9��	�$���
	��������

• 8�������	� ��� ���������	�	 ���������5�� �	 ��	�� 
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+

������	 �
���;�



���� �	�
���
��
����� 
	� 
	��	
��	
 �	
�	����� 3(

•  �����	�	� ��� �
���
��	 '	��	���(�����5�� ��� 
�	��	�

3 1�	�
�� ��� 
���
��	 4�	��
	��	 1�	����	/��S$��	�* ��
+

��������� 9������� �	� �����	�(	��

3  �����	�	� ��� �
������������� ��� 
�	��

3  �����	�	� ��� ���������	�� �	 �(���
��� ������������

3  �����	�	� ��� E�����	�(	��	
��(	����	F '	��	���(� 
��

8�	/���	 ��� N���� E6F

•  �����	�	� ��� 
�	��	���� ��� 2��
�
�����5�

• 1�	����	 �	� �
�������	 ��� ��������� �	 8��� ��� #� 2��+

	
���	 ��� ��� �����	�(	�� 
�� ��� 2��$���� �	� ��� N��


�� ��� N���	
��

•  �����	�	� ��� ����
��(	����	 
�	��	�	��	���(������(��	����
�	� ��������� ��� ��	 �����	��	

��� �"� ����� �	��������	��	 �	��������	�� 1�	�
���
�
�����

��� + ��� ���	 ������� 
	���������	 + ��� 9��	�$���
	�����������+

�����	� ��� -��������	 ���$���� ��� ���������	�	 ����� �����	 -�+

����� �	 ��	 �	��������	��	 2����	����	 ��� 	�	 �����	��	 4
������

1����	���� �	� '	�������
���	 ������������



3' �����	� �� ��	��
���������	 
	�������� ��� �����	�



�����	� "

�
�	�����	 ��� ���	
�
	���� �

'	 ������ 4
����� �����	 ��� 1����	���� ��� ���/����/�������	

�����	��	 �	� ��� 	���������	 �����
���	 �
���������* ���������	*

���/������ �	� �	������������ ��� ��	 �����
���	�	 $����	�� ���+

��	��	 2		
���	 �����	 ��	
		� �	� ����"	���� '� �����	 2�+

���	��� �����	 ��� �������	�	 �	� ��� ����������	 1����	���� �"�

�
� ���������� ��� #&= 	�* ������ ��� ���/���	 
�� 
��� ��� ����
�+

�(	����	 '	��	���(������(��	����* ���������	� '� $�����	 2����	���

������ 4
������ �����	 �
� ����$���+���������� ��� ##= 	� �����+

������ �	� ��� ��� �����	 2�������	� ����		�	�	 1����	���� ���

��	�	 ��� ����������� ��� #&= 	� ���������	 �	� 
�� 4�	�����	$

"�����"��� ��� 2�������	��	 $�� ����$��� �����	 ���� -����� 
��

���� 9�"	��	 �	 ������ 
�	�� 
�� ��� �����	��	 ��� ����������� ���

#&= 	� /�	$�	������	� 1����	�* ���� ��� 
�	��	����(��	���� �		��+

�
�� ������ ����������� �	 ��� �����
	��	 ������������� ��� ��7����

1��5	�����/��� 
�������	* $�����	�* ���� ������ ���������� �;��+

����	���� 
� �����	 $��(	����� ���* �	� ������	�* ���� �	��� ���

�	��	������	 
�	�� ��� 
����	
����	 ����������� ��� ##= 	� ��	� ��7+

��	�� 
�	�� �����* ������ ��� 2�������	� /�����$����� '� ������	

2����	��� ���� 
�  ������� ��� !��
	�* ��	�� 4����	�	�� ��� 
�

3+



34 �����	� �� 	
�	
����	 ��� ���	
�
	������

'�8 �	����/����	 ���$������$��������	* ��$����* �
) ��� �������

�	 ��	 �	��������	��	 ��������������	* �	 ��	�	 ������
��������	


�������* ���	$������ 
�� 
	���� 1����	�� 
	��	��
� ���� '� ������	

�	� ���$��	 2����	��� ���� ���  �������	� ��	 2/�������	���	��+

���	 ��� ����$���� �� �����	�
����
� 
	�
	� ��	 2����	���+ 2��+

��
��	��	 ��$����� 2	�
	� ������ 2/�������	���	�����	 ���� 
	+

���������	� ��������* ��� L�
���(� ��� �	���������	 �����	 �	�

���$������$��������	 $� �������	� 2������	�� ��� ������� ��������

�
�
�� ��	$������	* �
) ��� 2/�������	���	����� ��� ����$���� 	��

��	 2���/� ��� �������� ���� 1��	�
��� �	�������� �����	 ��) �	

D�/�	�� ��� 1�	H�) 
�� ��� 2/�������	���	����� ��� 4����	���:��

�	� 
�� ��� ����
	�����	 1���	���
���	 ��� �
����
���



���� 
	�������� ��� ��������������	�  ��� ��! 31

'�� !�
�
����� *�� �
�
 
��� 3���� �
�	��
�

�
%&��� 	� 0���
����� ��
 �'� ��

'� ����$���
��� �����* ��� ���	 ���(�	�* �	 ������ 
�	�� ��� 0���+

�
	� $������	 ��	 4�	5���
���	�	

1s22s22p63s23p4s �	� 1s22s22p63s23p2

��� 251−252 nm �	��������� ��� $����7����	 2����
��	 �"� ������

!������� ��	� �	 ��� !
����� &�= $� 5	��	� '	 ��� �����	��	 2����+

��	� &�= ��� ��	 
�� �����	 
���
��	 0����(	��	 �� ����$���
���

����������	��� ���/���� �
���������� '	 ������ ���������� ��� �
�


�	��	�	��	���(������(��	�� ��� 
�	��	 ��� #&=*I= 	� �	� #&=*C#

	� $��  �������	� ��� ������	 
� �����	�����	* �
 ��� 
�	�� ���

#&=*C# 	� ��� ����	���� �	� ���-�	��� ��� #&=*I= 	� ��� ��(�/���

2��������	 
�������� �����������(	����� /7		�	 ��� ������	 
���


�� ��	 ����(��	����	 ��� 
	����	 
�	��	 �������� �����	* 
����+

��	�� -������ �	 ��	�� ���� /���	���	 ������������� �	� + 
�����	�

��� �����������	 ���	
�+$�+.
����+����(��	����� + ��� ��	�� ��7���+

��	 8����� ���
�����  �� ��� �����
���	 ��� ���/���	 ����� ����
��

-������ 
�� �
� '	��	���(������(��	�� ��� �����	 
�	��	 ��� #&=*I= 	�

�	� #&=*C# 	� ����������

��� ��������	� ��� ����$���+9��	�$���
	�������� ����� ����� ���

	��������� �����
���	 ��� '	��	���(����������	� ��� 
�	��	���
�+

��	� ��� ����������� ��� #&= 	� 
	�
	� ��� �� .
���	 ������

2����� ���������	 �
��
�+�����
���� ��������� �
� �����
��

������	�� �	��� ����
�� ��� + ������� $� �(���	��	 + ��������	�



33 �����	� �� 	
�	
����	 ��� ���	
�
	������

250.0 250.5 251.0 251.5 252.0 252.5 253.0 253.5
0

200

400

600

800

1000

1200

S
iI 

25
2,

85

S
iI 

25
2,

41

S
iI 

25
1,

92

S
iI 

25
1,

61
S

iI 
25

1,
43

S
iI 

25
0,

69

 

 

 

Wellenlänge [nm]

In
te

ns
itä

t [
co

un
ts

]

%&&���
�� 1#(H ��� ������
�.�
���2���� &�� '1( ��

��� ����$���+9��	�$���
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��� �	� ��� 2	+

����� ��� 
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7��	� ��� ���
���	����
	���������+

���	�* ��� �� �	 ��	 2����	����	 K�K �	� K�K�= 
���"������ ��������+

��	 ���* �� ���������� 
��� ��� ���
���	���	��	���(� 
�� 8�	/���	 ��	

N�� �	� �����	�(	��* ������ �
� �� 1;������	� �������	� ���/+

���� �������$����	 ��)�

��� ��� ��	 2�������	��	 $����	�� ������� ��������	� ��� 	��+

��
��	 ����$���� �	�������� ��	�� ���6	�� K� 9�
��� ���() 9���+

���	� &�=* ��� ��� �	 2������	� &�# $� ����	 ���� ��� �"� �
� 	����
+

�� ����$��� �� 9��	�$���
	� ���������	� ������ �� D�	���� ���

��������	��	 ����� $������	 0, 95 · 1018m−3 �	� 7, 00 · 1018m−3* ���

8�)��	/��������	 ��� ��������	�* 
��� ��� ��������
����	 9��
��+

�(	��	 �����	 ��  ������ $������	 6 �	� 8 cm�
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λ[nm] ���#A��# Ei[cm
−1] Ek[cm

−1] Terme Ji − Jk gi − gk Aki

250, 69 425 77, 112 39955, 051 3P −3 P 0 1 − 2 3 − 5 0, 466

251, 43 375 0 39760, 285 3P −3 P 0 0 − 1 1 − 3 0, 61

251, 61 500 223, 157 39955, 051 3P −3 P 0 2 − 2 5 − 5 1, 21

251, 92 350 77, 112 39760, 285 3P −3 P 0 1 − 1 3 − 3 0, 456

252, 41 425 77, 112 39683, 158 3P −3 P 0 1 − 0 3 − 1 1, 81

252, 85 450 223, 157 39760, 285 3P −3 P 0 2 − 1 5 − 3 0, 77

:�&���� 1#(H %�������� ��� ������
��
���2����� &�� '1( �� B5��9(D

nSi(x, y) = n0
Si

−((x2 + y2)2 + r4)

r4 E&�=F

%&&���
�� 1#'H ��� �������&��� �� ���2��J� ��� ��������� �� ���� ���� ���

0, 95 · 1018m−3 
�� 7, 00 · 1018m−3 
�� �
<2
�	��&������ ���� ��� 6 
�� 8 cm
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λ[nm] ���#A��# Ei[cm
−1] Ek[cm

−1] terms Ji − Jk gi − gk Aki

220, 80 110 0 45276, 187 3P −3 D0 0 − 1 1 − 3 0, 311

221, 89 115 77, 112 45293, 623 3P −3 D0 1 − 2 3 − 5 0, 416

221, 17 110 77, 112 45276, 187 3P −3 D0 1 − 1 3 − 3 0, 232

221, 67 120 223, 157 45321, 848 3P −3 D0 2 − 3 5 − 7 0, 55

221, 06 120 223, 157 45293, 623 3P −3 D0 2 − 2 5 − 5 0, 138

221, 89 50 223, 157 45276, 187 3P −3 D0 2 − 1 5 − 3 0, 015
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λ[nm] ���#A��# Ei[cm
−1] Ek[cm

−1] terms Ji − Jk gi − gk Aki

363, 55 4800 0 27498, 975 3F −3 G0 2 − 3 5 − 7 0, 804

364, 27 6600 170, 132 27614, 667 3F −3 G0 3 − 4 7 − 9 0, 774

365, 35 7200 386, 874 27750, 124 3F −3 G0 4 − 5 9 − 11 0, 754

365, 81 660 170, 132 27498, 975 3F −3 G0 3 − 3 7 − 7 0, 058

367, 17 600 386, 874 27614, 667 3F −3 G0 4 − 4 9 − 9 0, 046

368, 73 95 386, 874 27498, 975 3F −3 G0 4 − 3 9 − 7 0, 004
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EA = 1, 6 eV (uncoated)

�"� ��� �	������������	 �	�

EA = 5, 9 eV (coated)

�"� ��� ������������	 �����	 ������	� ����� ����� �����$��������	

��	� ��� ����$���
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��� �
�� �� ��	�	 8
/��� K ��(�/�� 
	 ��	

8���/7���� ����	��	� '� ��	$��	�	 ���
��	 ���� ��� �	 !
����� &�K


�����������	 ����� �"� ��� 2/�������	���	�����	�

V ersuch Probe Schicht Aktivierungsenergie [eV ]

543 200216 − 1, 5

548 2002es02 − 1, 6

577 200205 − 1, 8

551 2002es04 T iO2 5, 5

553 C/CSiC T iO2 5, 6

565 I5342PA27 T iO2 6, 5
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���	�	 1s22s22p63s23p4s �	� 1s22s22p63s23p2 ��� 251 − 252 nm
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	��� ��� 220 − 222nm $��+
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